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{y_x=6 . EézGAE- & ;‘

3x+2y=2

Your Answer:

Your Partner’s Answer:

If they match, move on.
If not, trade papers and check your partner’s work.

Identify any mistakes and discuss.

Your Answer:

Your Partner’s Answer:

If they match, move on.
If not, trade papers and check your partner’s work.

Identify any mistakes and discuss.

{

5 —y=-=5
3x — 6y =24

Your Answer:

Your Partner’s Answer:

If they match, move on.
If not, trade papers and check your partner’s work.

Identify any mistakes and discuss.

Your Answer:

Your Partner’s Answer:

If they match, move on.
If not, trade papers and check your partner’s work.

|dentify any mistakes and discuss.

{

y=2x—4
6x — 3y =12
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@«m@ﬁmg Us. Substitution
y—x=6
Your Answer: 3x+2y=2
Your Partner’s Answer:
If they match, move on.
If not, trade papers and check your partner’s work.
Identify any mistakes and discuss.
| i My | 1 |
5 —y=-5 j ; |
3x — 6y = 24 m % Your Answer:
EREEE u | Your Partner’s Answer:
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] » ! If they match, move on.
[ . | g If not, trade papers and check your partner’s work.

Identify any mistakes and discuss.

{Zx —3y=-12
Your Answer: x+y=9
Your Partner’s Answer:
If they match, move on.
If not, trade papers and check your partner’s work.
Identify any mistakes and discuss.
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y=2x—4 P
1 Your Answer:

6x — 3y = 12 ENENEENENE

Your Partner’s Answer:

If they match, move on.
If not, trade papers and check your partner’s work.
Identify any mistakes and discuss.




